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a) This is not an equivalence relation, since it is not symmetric.
b) This is an equivalence relation; one equivalence class consists of the first and third elements, and the other
consists of the second and fourth elements.

c) This is an equivalence relation; one equivalence class consists of the first, second, and third elements, and
the other consists of the fourth element.

We need to show that every equivalence class consisting of people living in the same county (or parish) and
same state is contained in an equivalence class of all people living in the same state. This is clear. The

equivalence class of all people living in county ¢ in state s is a subset of the set of people living in state s.



